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1. SoIve:(D2—2D+2)y:O.
2. Solve: (DQ 6D+13)y 0.
3. Solve: (D2+4jy 0.

4. SoIve:(D2+1)y:e_x.
5. Solve: —=16y.

6. Solve: —=+4y=e

2

7. Find the particular integral of d7y +4y =sin2x.
dx2

8. Find the particular integral of (D4 + D2jy =COS X .

9. Find the particular integral of (D4 + D2)y =sinx.
10. Solve : (D* +3D* +3D+1)y =0.

11. Solve : D4 2D3+D2)y 0.

13. Solve:

12. Solve : ( +2D2+1)y 0.
(4132 4D+1)y 4,

14. Solve : (D — 2)

Answers

The Auxillary Equationis m2 _2m+2=0
2+J4-8 2+2i

1) m= = =1+1
2 2

The Complete Solutionisy =e* (Acos x + Bsinx)




2)

3)

4)

5)

6)

7)

8)

The Auxillary Equationis m2 _6m+13=0
m = 6i\/3;6—52 _ 6";41 _349i
The Complete Solutionisy = e** (Acos 2x + Bsin 2x)

The Auxillary Equationis m214=0
m=12{
The Complete Solutionisy = Acos 2x + Bsin2x

The Auxillary Equationis m2:1=0

m ==+l

The Complementary Function = Acos x + Bsinx
PI-—t e X_leg=x

D211 2

The Complete Solutionisy = Acos x + Bsinx + %e‘

X

The Auxillary Equationis m4 2% -0

(m*>-2*)(m*+2°)=0

(m-2)(m+2)(m>+4)=0

m=-2,2,+21

The Complementary Function = Ae™ + Be** (C cos 2x + Dsin2x)

The Auxillary Equation is m244-0

(m*+2*)=0

m=12i

The Complementary Function = A cos2x + Bsin2x
PI-— 1 e 2x_lo2x

- =_e
D2 +4 8

The Complete Solutionisy = Acos 2x + Bsin 2x + ée_Qx
PI= sin2x =isin2x:m
D214 2D 4

X X —xsinx
COSX=————COS X 0SX=——COS X =

PI=—— — . - X
D4 " D2 4D* +2D -4D +2D —2D 2




9)

10)

11)

12)

13)

PIl=—— sinx=—"2>—sinx=——~—sinx = sinx = 2508 %
D4 L p2 4D° + 2D —4D + 2D -2D 2
The Auxillary Equationis m3 +3m2 +3m+1=0
1 1 3 31
0 -1-2-1
12 1 |0

m=-1,m>+2m+1=0
m=-1l,m=-1m=-1
The Complementary Function =(Ax* + Bx+C)e™

_m3im?-0

The Auxillary Equationism

mz(m2 —m+1]:0

_1+1-4 1+
2 2

m=0,0,m

B @j

The Complete Solutionisy = (Ax + B) + e> [C cos X+ Dsin?x

The Auxillary Equationis m% +2m2 +1-0

Take, tzmQ,Then t2 +2t+1=0

t=-1,-1

m?>=-1m*>=-1

m=xi,+t1

The Complete Solutionisy = (Ax + B)cos x + (Cx + D)sin x

The Auxillary Equation is 4m2 —4m +1=0

m:—4i ;6_16 :%(twice)

The Complementary function is=(Ax + B) e

Pr-— 1 4.4

4D2 —4D+1
The Complete Solutionisy = (Ax + B)eg +4



The Auxillary Equationis(m-2)’ =0
m = 2(twice)

14) The Complementary funtionis=(Ax+ B)e’

1 x x? x?
P‘I:—eQ)c: eQx:_eQXZ_eQX

(D-2Y’ 2(D-2) 2D 4

2
The Complete Solutionisy = (Ax + B)e** + XT e

LEVEL-2, QUESTIONS

Find the particular integral of [D2+1jy =CoSs (2x—1) .

—X

Find the particular integral of y” +2y’ +5y=e " cos2x.

Find the particular integral of (DQ +4D+ SJy = e—2x COS X .

Find the particular integral of (DQ + l)y cosh2x.

—X

Find the particular integral of (D — 1) y=sinh2x.
( Ccos X.

Find the particular integral of (D + 1)

Find the particular integral of (D2 ) =cos® x.

Find the particular integral of(D3 7D — 6jy x.

Find the particular integral of (D +4D + 3jy 2e” (x2 + 2) .

. Find the particular integral of(D +6D + 8)y 0032 x.

. Find the particular integral of (D — ) y=xe —2x

. Find the particular integral of (Dz +4D+ 4)y = xe—2x_

Answers

1) PI= cos(2x-1)= (_41+1) cos(2x-1)= —%cos(Qx—l)

[D2+1]

1 _ _ 1
PI=— e Xcos2x=e ¥ cos2x

(D2+2D+5) (D-12+2(D-1)+5

_x .
— 1 —-x X xe sin2x
X cos2x=e X X cos2x=25__ >0

-¢ (D2+4] 2D 4



3)

4)

5)

6)

7)

P.I=

[D2+4D+5]

1

(-4+4)

1 1
(1+cos2x)= 5{(D2 " 4) L+ (D2

e—2x

1

2x 1 xe

sin x

2

7

1 (1+cos2xj
2

1
+

N

cos 2x =l{l+ic032x}=l{
214 2D 2

)coszx}

1 x sian}

4 2

[(D —2/+4(D- 2)+5J
—2x

eQx}

2

e—2x

COS X

4-4+1

1

1 eQx}

{1+ x cos 2x}






